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Question Id : 9209067588 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

TREAY & 46 ® grft & g gg1, 7, fayfa ok oien same Y 81 9E &1 981 A% §
frg-fugia-uefa & oe1 @ § & He urg dienie R 1 U gFmis 81 F SE1 sitare
3R URHTH & aT9D ¢ | 39 I @1 Uhdl [dUE &3 aTell 98 Ja1 ¢, forad a2 9 gam
UHA Bid § SR S 0 YR O ¢ | 98 WIEd Sedvgidl ¢l 39 5l B $H BIeH
UG Ol § o] 39 Uiad gE1 & Rl i a1 YR ot Agwaydl 8 9idt § | S
&1 1 AfgHT auiH & g YR g Iad g8 ¢ 3R 99 Sul-vg § saa i ¢ [ @@
TR it & =l § 7S grlt g1 91 § 3R O - HRU & v § gad 81 ordl g

A1E &1 8 3F1gS a1 41t A ¥ FeT T § | TSR 3TH], UNHH], 3R Sitare, 39 diFl @l
A S Fed ¢ |

39 YR il & 9yl [ag ora | sneifde givdl & ydle 9= 8 | Ui Sayd & foau 94
mwﬁg’&maﬁ’rwaﬂﬂ,ﬁww, TuiHg gidl gan i gdfdanfeld giax @
gHalg |

3t ura F1 9a9 F e wde s A B & b 39 Yy gf &t e e uifa S S ®
a8l A1 g9 a8, 1 9@ &1 94 |

Sub questions

Question Number : 1 Question Id : 9209067589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTREA™ & He | 9aifis ARy fhaa! g7

(1) 3w 2 fayfa
(3) Hg (4) Hal
Options :

92090630001. 1
92090630002. 2
92090630003. 3
92090630004. 4

Question Number : 2 Question Id : 9209067590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FH T P §W Tel GHAT IR GE &1 @ -

1) TREN (2) orEyd g
(3) MR (@) omEyd
Options :

92090630005. 1
92090630006. 2
92090630007. 3
92090630008. 4

Question Number : 3 Question Id : 9209067591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e 1 A Yeg 1 87

(1 (2) Smew
3) g (4) &R
Options :

92090630009. 1
92090630010. 2
92090630011. 3
92090630012. 4

Question Number : 4 Question Id : 9209067592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R B YA TR -

(1)  HeHl (2) i
(3) OIHTHT (4) STeHI
Options :

92090630013. 1
92090630014. 2
92090630015. 3
92090630016. 4

Question Number : 5 Question Id : 9209067593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

il & wit Fag oraa o snenfars gl & @1 82

(1) Faw 2 fayfa
3) g 4) Uclt®
Options :

92090630017. 1
92090630018. 2
92090630019. 3
92090630020. 4

Question Id : 9209067588 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

TREAY & 48 ® arft & g gw, 7, fayfa ok onewr same U 81 9% &1 991 AR §
rs-figia-usia o o817 § & 4 uig Hier(® SR 31 Ui gFYS 81 3 Sl Siar
3R AT & AP ¢ | FT G &) Uhdl (AU H dIell 98 Hol ©, o a2 9 Gai
UHA Bid & SR S U YT 9 § | 98 WIa Sedvidl ¢l 39 53l B B Bl
UG Ol § Suiod 39 Uiad gE & HRo1 i a1 gR Wt mewayel 8 widt § | S
&1 ®I AfgHT aui= & fog YRS UFEg Ed g8 ¢ 3R 39 Iui-ug © aard ™ § [ @@
IR T & =l § 7S GrT g1 W1 8 R O - TR0 & au § gad 81 ordl g

q1g &1 8 3F1gS °1 41t 0 ¥ FeT T § | TSR 3T, YA, 3R Sitare, 39 Al @t
o T B Fed ¢ |

39 YR il & 9l [ag e | sneifde givdl & wdls 9= € | Ui Sayd & oy 94
mw%‘gf&maﬁwaaﬂ,ﬁamww, Taiwg gidl gan i gdfdanfsld gia @
gHAe |

34T WTd &1 909 & g Hded 1 Fel ¢ [ 39 s@yd g 31 aml fobard u=ifta &1 7S § |
a8l A1 g8 a1 ¢, 71 9@ &1 94 |

Sub questions

Question Number : 1 Question Id : 9209067589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TTREA™ & He | 9aifis ARy fhaa! g7

(1) Smew (2) faufa
(3) g (4) Hal
Options :

92090630001. 1
92090630002. 2
92090630003. 3
92090630004. 4

Question Number : 2 Question Id : 9209067590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

D W P §E ] A IR g9 P 9@ -

1) TIREAN (2) eayd g
(3) udeR (4) SfaYd
Options :

92090630005. 1
92090630006. 2
92090630007. 3
92090630008. 4

Question Number : 3 Question Id : 9209067591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G &1 G Teg &1 67

(M g (2) Sme™
3) & (4) g
Options :

92090630009. 1
92090630010. 2
92090630011. 3
92090630012. 4

Question Number : 4 Question Id : 9209067592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T bt Wyfa TET R -

(1)  Hgl#H (2) Gidren
(3) TIHTHT (4) SH
Options :

92090630013. 1
92090630014. 2
92090630015. 3
92090630016. 4

Question Number : 5 Question Id : 9209067593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

giffdl & ot g orga o senfars gl & &1 82

(1) Faw 2 fayfa
3) g @) ud®
Options :

92090630017. 1
92090630018. 2
92090630019. 3
92090630020. 4

Sub-Section Number : 2
Sub-Section Id : 920906241
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209067594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A e

B. UHIER

c. e

D. wf

£ faar

< g T faeheul # 9 Wl IR BT 994 il -
(1) dd A B,D,E

) @dd C,D,E

(3) dd A B,CE

(4) &dd A B,C,D

Options :

92090630021. 1
92090630022. 2
92090630023. 3
92090630024. 4

Question Number : 6 Question Id : 9209067594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A e

B. UHIER

c. e

D. wf

£ faar

< g T faeheul # 9 Wl IR BT 994 il -
(1) dd A B,D,E

) @dd C,D,E

(3) dd A B,CE

(4) &dd A B,C,D

Options :

92090630021. 1
92090630022. 2
92090630023. 3
92090630024. 4

Question Number : 7 Question Id : 9209067595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 91y g 11 B e S

- Tt -
(A) T ) HRE
(8) et () Gemrent
(C) HPHE () dagd
(D) SfER (Iv) <

412 feu e faedi | el IR &1 95 DI

(1) (A=), (B)-(11), (C)-(ln), (D)-(IV)
(2) (A0, (B)-(1V), (C)-(1), (D)-(In)
(3)  (A)-(V), (B)-(I), (O-(1), (D)-(1)
4) (A=), (B)-(I), (O)-(IV), (D)-(N)
Options :

92090630025. 1
92090630026. 2
92090630027 3
92090630028. 4

Question Number : 7 Question Id : 9209067595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 91y g 11 B e S

- Tt -
(A) T ) HRE
(8) et () Gemrent
(C) HPHE () dagd
(D) SfER (Iv) <

412 feu e faedi | el IR &1 95 DI

(1) (A, B)-(1), (©)-(), (D)-(IV)
(2)  (A)-(l), (B)-(1V), (O)-(1), (D)-(I)
(3) (A=), (B)-(1), (O)-(1N), (D)-(I)
(4) (A, (B)-(I). (©)-(1V), (D)-(IlN)

Options :

92090630025. 1
92090630026. 2
92090630027. 3
92090630028. 4

Question Number : 8 Question Id : 9209067596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LCERIVE IR RIEEIEIY

- -l
(&) fadm () dgey
B T ay e
(C) VTS () sgslife
(D) SRHE (Iv) FHYRY

(1) (A=), (B)-(I), (O-(IV), (D)-(1)
(2) (A=), (B)-(1), (C)-(l), (D)-(1V)
(3)  (A)-(), (B)-(l), (C)-(1), (D)-(IV)
@) (A)-(), (B)-(ln), (C)-(1V), (D)-()
Options :

92090630029. 1

92090630030. 2



92090630031. 3
92090630032. 4

Question Number : 8 Question Id : 9209067596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 &y g 1 &1 e S

- -l
(A faam () TGy
(B) IIUS e
(€) UYTIEE () dgsife
(D) <S=HTd (V) FHYRY
(1) (A=), (B)-(n), (C)-(v), (D)-(1)
(2) (A=), (B)-(ln, (C)-(I), (D)-(IV)
(3)  (A)-(), (B)-(l), (C)-(1), (D)-(IV)
(@) (A)-(I), (B)-(l), (C)-(1V), (D)-(I)

Options :

92090630029. 1
92090630030. 2
92090630031. 3
92090630032. 4

Question Number : 9 Question Id : 9209067597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"G | B -5 GH 87

() dgdiie 2 %

(3) HHURY (4) TSR T
Options :

92090630033. 1
92090630034. 2
92090630035. 3
92090630036. 4

Question Number : 9 Question Id : 9209067597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

"Hed H & -5 999 87

(1) dgsiife 2 &%

@) FHURE (4) TR T
Options :

92090630033. 1
92090630034. 2
92090630035. 3
92090630036. 4

Question Number : 10 Question Id : 9209067598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
16-16, AT &1 AR didadi firg @ | gl 82

(1) <8l (2) e
3 Bu™ (4) <O
Options :

92090630037. 1
92090630038. 2
92090630039. 3
92090630040. 4

Question Number : 10 Question Id : 9209067598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
16-16, AT &1 AR didadi firg @ | gl 82

(1) <8l (2) e
3 Bu™ (4) <O
Options :

92090630037. 1
92090630038. 2
92090630039. 3
92090630040. 4

Question Number : 11 Question Id : 9209067599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
3 cm, 4 cm 3R 5 cm f3AT3{ aret Tt vy &1 9Pt gawe (cm2 ) §

(1 47 (2) 50
(3) 60 4) 94
Options :

92090630041. 1
92090630042. 2
92090630043. 3
92090630044. 4

Question Number : 11 Question Id : 9209067599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 cm, 4 cm 3R 5 cm f3AT3{ aret Tt vy &1 9Pt gawe (cm2 ) §

(1 47 (2) 50
(3) 60 4) 94
Options :

92090630041. 1
92090630042. 2
92090630043. 3
92090630044. 4

Question Number : 12 Question Id : 9209067600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i 2sin20=1 %, dl tan20 + cos26 Eﬂrﬂ:[%:

1

(1) B 2

2.3

B w 2B

2.3 5
Options :

92090630045. 1
92090630046. 2
92090630047. 3



92090630048. 4

Question Number : 12 Question Id : 9209067600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i 2 sin 20=1 %, dl tan20 + cos20 Eﬂqﬂ%i

1

(1) B 2

2.3

3 — w 2B

23 5
Options :

92090630045. 1
92090630046. 2
92090630047. 3
92090630048. 4

Question Number : 13 Question Id : 9209067601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AUR! & U1 1000 kg M 4T o/ $& HRT IT 10% Y O 91 U9 18% o TR
T | P e 39 16% AT a1 | 18% a4 O &9 7Y 3F &1 A &;

(1) 250 kg (2) 300 kg
(3) 500 kg (4) 750 kg
Options :

92090630049. 1
92090630050. 2
92090630051. 3
92090630052. 4

Question Number : 13 Question Id : 9209067601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Uch AURI & UTH 1000 kg 319 UT S ADT $& HAT JHA 10% TIH U U1 Y 18% TH W
o1 | Pl [ATB 39 16% 1Y B | 18% Y TR &< 7T 3[H &1 JET 6;

(1 250 kg (2) 300 kg
(3) 500 kg (4) 750 kg
Options :

92090630049. 1
92090630050. 2
92090630051. 3
92090630052. 4

Question Number : 14 Question Id : 9209067602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
10T =41l 1 A o3 I fha-t 1l s a9 & 2520 aan 7 99 & 2568 g Arwii?

(1) 400 (2) %420
(3) 3410 4) T320
Options :

92090630053. 1
92090630054. 2
92090630055. 3
92090630056. 4

Question Number : 14 Question Id : 9209067602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AU STl i GHH o1 ¥ fha-t Wi 5 a9 o 2520 au1 7 99 o 2568 g1 oTwil?

(1) 400 (2) 420
(3) 3410 4y 320
Options :

92090630053. 1
92090630054. 2
92090630055. 3
92090630056. 4



Question Number : 15 Question Id : 9209067603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 71 B fodl BTH PI HUY: 12 & a1 24 G A HX Ghd © | AHT A Ub 914 & = b1
AT A 7 BH QU B ¥ 3 {7 Uged S SIS 0, Ty B 7 3(hd 8l HrH I b1 | A A
B & A1y fdha i1 ra fbam

(m 5 () 7
(3) 6 4) 8
Options :

92090630057. 1
92090630058. 2
92090630059. 3
92090630060. 4

Question Number : 15 Question Id : 9209067603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A YT B Tl ST PI HHY: 12 &7 auT 24 A A ST TS € | GHI A T U1y B = 61
A1 A 7 P18 QU BH ¥ 3 &7 ugd o™ Bl fedl, dayrd 8 - 3ibd g & Qi fdbar 1 A A
B & WY fha f-1 o fhan

m 3 ) 7
3) 6 4) 8
Options :

92090630057. 1
92090630058. 2
92090630059. 3
92090630060. 4

Question Number : 16 Question Id : 9209067604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ 30+ TR ¥ IRW DT ¢ 5 fpediex WY geal § a9 H oA fg 4 Wil 8 3R 2
fpeiriex =erdl § # v 9 <1ig 48 W1 § 3R fihe 9 2 fpamicx wad § afe # smA R ¥
IR UlEH ¥ § a9 J e H 659 1S3 3t SR man

() 9xd 2) digw
3) JW (4) gigmo
Options :

92090630061. 1



92090630062. 2
92090630063. 3
92090630064. 4

Question Number : 16 Question Id : 9209067604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 30+ TR ARW HAT © 5 fpariex WY Feal § 99 H 30 e 7S el 8 IR 2
fepeirieR =era § o fihe & qiie- s ol § 9k bR ¥ 2 foheiiie =l §, afe & o= TR &
IR 9fEE H § a9 & uRe H 6w e @t ik man

(M T4 () diEm
3) 9w (4) aigmor
Options :

92090630061. 1
92090630062. 2
92090630063. 3
92090630064. 4

Question Number : 17 Question Id : 9209067605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fdl U UeT T GENERAL T LNEEARG & ¥U H Bfcd a1 81 dl PROBLEM &I [&H UHR
q Pe fovar s

(1) MOREBLP (2) MRUEBLP
(3) MROBELP (4) MORBELP
Options :

92090630065. 1
92090630066. 2
92090630067. 3
92090630068. 4

Question Number : 17 Question Id : 9209067605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fodt U UTeT § GENERAL T LNEEARG & ¥U H Hfcd gl §1 Al PROBLEM &I [0 TSR
q Pe fovar s

(1) MOREBLP (2) MRUEBLP
(3) MROBELP (4) MORBELP
Options :

92090630065. 1
92090630066. 2
92090630067. 3
92090630068. 4

Question Number : 18 Question Id : 9209067606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl fadea 94 & i e & fdu o uy fog gv —ifud gime
16/3,8,12,18 27,7

(1 31%5 (2) 40%:
(3) 31 (4) 40
Options :

92090630069. 1
92090630070. 2
92090630071. 3
92090630072. 4

Question Number : 18 Question Id : 9209067606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl fdsed g il {o ymen § fQu 71y uy g ux wyiiud g
16/3, 8, 12,18 27, ?

(1 31%, (2) 40%:
(3) 31 (4) 40
Options :

92090630069. 1
92090630070. 2
92090630071. 3
92090630072. 4



Question Number : 19 Question Id : 9209067607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K I ST & M @1, ed gu i ‘TR fiar & e &1 disft &1 ufa & M &1k & 7 Rean €2

1) 3iFpd (2) M@
(3) #ex-zA-dl (4) @A
Options :

92090630073. 1
92090630074. 2
92090630075. 3
92090630076. 4

Question Number : 19 Question Id : 9209067607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
K IRe ST & M @1, Hed gu b TR fiar & [ &t deft s ufa & M &1k & 7 Ran €2

1) SiPpd (2) 1§
(3) #ax-zA-dl (4) T
Options :

92090630073. 1
92090630074. 2
92090630075. 3
92090630076. 4

Question Number : 20 Question Id : 9209067608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR AT

iy Ao T ol & G Ued $1 gAR Tpal # B! ®I Ugit o+ dlieu|
BRUR: B, TUR ¥ & gl & B4 § Aldd gedl $1 9871 & T8 g gl
I Y & ee d, i fdu U fawedt o | wEl o 9gH Sifere

(1) ASRREH U E SRR, AT ad e g

2) A SRR G E AR, A B A e T R

)

)

@) AUSE aFTREA T
4) AGEAEIE AfFTR TR &

Options :

92090630077. 1
92090630078. 2
92090630079. 3
92090630080. 4

Question Number : 20 Question Id : 9209067608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & v few e &
siftray A St ol & A e & AR Whdl H 81 6 Ugiy o 1y
BRUIR : B, GAN G & aodi & G § A Hedl &1 96 & T8 GgRIE gl
JUiadd Y @ Sireie H, A fAu e 9l # 9 el St 994 Sifve
(1 ASRREA "l € iR, AT HE ST 8

)
2) A RREH GE € bR A T T e T8 e
(3) AHGE AfFIREE Tel e
(4 A TRIE AFTREE B
Options :

92090630077 1
92090630078. 2
92090630079. 3
92090630080. 4

Question Number : 21 Question Id : 9209067609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | B " g || 1 e i

- it -l
(A) BTG T R W o
(8) P SR HwH y STgE
Q) ¥ AT SR () HIAD
(D) ¥ Ryeg GwH (V) SE9R

4 feu o faeedt o | 9t I &1 98- i

(1) (A)-(D), (B)-(1), (C)-(1), (D)-(IV)

(2) (A)-(D), (B)-(1), (C)-(11), (D)-(IV)

(3) (A)-(IV), (B)-(H), (C)-(N, (D)-(1)

(4) (A)-(IV), (B)-(H), (C)-(ln), (D)-(1)
Options :

92090630081. 1
92090630082. 2
92090630083. 3
92090630084. 4

Question Number : 21 Question Id : 9209067609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 | & | G 11 T e S

- it -1l
(A) BTG AT TR W
(8) P BIFETS HeyE (I STgE
(© B AR TR () ierehr
(D) HT e SR (V) SR

A feu o fawe! o | W&t IR &1 95 P

(1) (A)-(1), (B)-(11), (C)-(Iln), (D)-(1V)
(2) (A)-(1), (B)-(1iT), (C)-(I), (D)-(1V)
(3) (A)-(IV), (B)-(1), (C)-(11), (D)-(D)
(4) (A)=(IV), (B)-(I1), (C)-(), (D)-(D)

Options :
92090630081. 1
92090630082. 2



92090630083. 3
92090630084. 4

Question Number : 22 Question Id : 9209067610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RaFwERrme
F | ARKR o U8 @1 ea § TNHE guR S/ &1 o] § deda @R
ST Seafl B dxgfd @1 g O |

HYAN:  THR & U TR I YPTER &I old og YRd a8 H aibrgdd A i1 g |
IR By & e H, A G 7y [ddedi & ° "gl It 90 $ifey

(1) ®FHIARNSH TS

@ RIS s B

(3) HYTIHAE, Wb HUA I ST
(4)  HUTIHEAE AT T TIE

T

Options :

92090630085. 1
92090630086. 2
92090630087. 3
92090630088. 4

Question Number : 22 Question Id : 9209067610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FUT| . HARR S UK @ el B UNNHE gUR o @1 ol # deua &R
TehTa demaft &1 Ugfa ot s o |

FUN . WRPR & U TR TR YPTER ] oid o HRd a8 3 alergad Qe Sw1 gr |
TR HYF F e |, = iy e fawedt 7 4 gt I 997 Sifen

(1) SFISRNTHTIE

@) HUEIARISH AR

(3) HYTIHAE, AT FUT I I
4) YT A e AfhT T I E T g

e

Options :
92090630085. 1



92090630086. 2
92090630087. 3
92090630088. 4

Question Number : 23 Question Id : 9209067611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R R wiferat aren e & (S #1) 99 eR B gl |
(1) 1571918 (2) 13 3T 1919

(3) 14 U 1920 (4) 6 9Tg 1921

Options :

92090630089. 1
92090630090. 2
92090630091. 3
92090630092. 4

Question Number : 23 Question Id : 9209067611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sgaeR (R wiferat aren s A (s &) 99 @8R HI gAY |
(1) 1971918 (2) 13 30d 1919

(3) 14 34U 1920 (4) 6 AT 1921

Options :

92090630089. 1
92090630090. 2
92090630091. 3
92090630092. 4

Question Number : 24 Question Id : 9209067612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR 3l oqgey 3t [A9war g

A PiN DI UYHE Ul

B. 3ENI I UM ol

c. o & ufd sl em

D. HRI SRY

I fou mu faweat § 9 96 S & 9ua Fifon
(1) &ad A 3RB

(2) ad A B IHRC

(3) &ad B, C3RD

4) Had A,BC3IRD

Options :

92090630093. 1
92090630094. 2
92090630095. 3
92090630096. 4

Question Number : 24 Question Id : 9209067612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URdTT aref sogeyr @1 fagivar 8

A Y I TYHE Ul

B. I Bl UUM T

c. AR ®ul =fEd em

D. HRI&RIORI

A feu T fawedt & 9 |8l I &1 IuA Bifow -
(1) &dd A SIRB

(2) &ad A B 3RC
(3) $ad B, C3RD
(4) &ad A,BC3RD

Options :

92090630093. 1
92090630094. 2
92090630095. 3
92090630096. 4



Question Number : 25 Question Id : 9209067613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P BRI W &1 gagal TareR ol ordl g

(1) visd (2) <dd
(3) gEd-d (4) TG
Options :

92090630097. 1
92090630098. 2
92090630099. 3
92090630100. 4

Question Number : 25 Question Id : 9209067613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& BRI G &1 gagal TSR gl ol g
(1) vigd (2) adld
(3) Y¥dId (4) =g

Options :

92090630097. 1
92090630098. 2
92090630099. 3
92090630100. 4

Part B: Physical Education

Section Id : 920906152
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 920906242
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209067614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During Ancient Olympic Games, the event 'Pancratium’ was the combination of
which two games?

1.  Wrestling and Boxing

2. Boxing and Race in Armor
3. Chariot Race and Foot Race
4.

Wresting and Race in Armor

Options :

92090630101. 1
92090630102. 2
92090630103. 3
92090630104. 4

Question Number : 26 Question Id : 9209067614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WM FATF S & g0 SR’ giaaiit 9 g @i = g oy

(1) el 9 =iaan (2) =TT 9 I UH FEA 6 A1y
(3) W U gL (4) Frdl 9 9% UH A4 & HIY 613
Options :

92090630101. 1
92090630102. 2
92090630103. 3
92090630104. 4

Question Number : 27 Question Id : 9209067615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the founder of the YMCA College of Physical Education, Madras?
1. Raj Kumari Amrit Kaur
2. H.C. Buck
3. Prof. G. D. Sondhi
4.  Dr.D. G. Noehrem

Options :

92090630105. 1
92090630106. 2
92090630107. 3
92090630108. 4

Question Number : 27 Question Id : 9209067615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
8. ., A e veriaeeE, TR % S S 97

(1) THFAR 30T ®R (2) UE.HL.EH
(%) WS g (4) =i F.50. T=m
Options :

92090630105. 1
92090630106. 2
92090630107. 3
92090630108. 4

Question Number : 28 Question Id : 9209067616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Greek Physician was the first to study therapeutic Gymnastics/Gymnastic
medicine?
1. Galen
2 Hippocrates
3. Herodicus
4. Auristotle

Options :
92090630109. 1



92090630110. 2
92090630111. 3
92090630112. 4

Question Number : 28 Question Id : 9209067616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Torm gt Tafems 3 vam @ faferadim fmanfes fafes o =1 steas e

(1) T=m (2) TeoIsRed
(3)  Efewm (4) I
Options :

92090630109. 1
92090630110. 2
92090630111. 3
92090630112. 4

Question Number : 29 Question Id : 9209067617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is known as the proponent of naturalism®?
1. Pavlov

2. Aristotle

3. Rousseau

4

Plato

Options :

92090630113. 1
92090630114. 2
92090630115. 3
92090630116. 4

Question Number : 29 Question Id : 9209067617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forae! wpfaame & Ands % ¥9 4 M 9 8 7

(1) 9=aE (2) =0
(3) = (4) =@
Options :

92090630113. 1
92090630114. 2
92090630115. 3
92090630116. 4

Question Number : 30 Question Id : 9209067618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Ethics and Aesthetics’ is examined under which branch of Philosophy
1. metaphysics
2. epistemology
3.  logic
4. axiology

Options :

92090630117. 1
92090630118. 2
92090630119. 3
92090630120. 4

Question Number : 30 Question Id : 9209067618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“Afermen AR Higd F1 7= g9E F RE wmE F s o 27

(1) = (2) FFETE
(3 @ (4) g HimwE
Options :

92090630117. 1
92090630118. 2
92090630119. 3
92090630120. 4



Question Number : 31 Question Id : 9209067619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The learning domain concemed with acquisition of knowledge and its application
is referred as

1. affective
2. psychomotor
3. social
4.  cognitive
Options :
92090630121. 1
92090630122. 2

92090630123. 3
92090630124. 4

Question Number : 31 Question Id : 9209067619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FETS 791 IF AR 4§ Hafuq Sfrm & 1 FE T -

(1)  9EH® (2) WIS
(3)  =mIfE® (4) THEEE
Options :

92090630121. 1
92090630122. 2
92090630123. 3
92090630124. 4

Question Number : 32 Question Id : 9209067620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A type of leader who allows group members to get on with the task at hand
without interference is referred as

1. authoritarian leader
2. laissez-faire leader
3. democratic leader
4

impulsive leader

Options :

92090630125. 1
92090630126. 2
92090630127. 3
92090630128. 4

Question Number : 32 Question Id : 9209067620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U U] Ad1, T AT TR & dewl ®i faen e e & w6 w1 e Awia a1 2, FE A 2

(1)  =Er 3 (2) FAEEET—Ta
(3)  S=AES S (4) A= I
Options :

92090630125. 1
92090630126. 2
92090630127. 3
92090630128. 4

Question Number : 33 Question Id : 9209067621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Behaviour at any time is the product of an interaction between the situation and
our personality, is an explanation of personality through

1.  interaction approach
situation approach

trait approach

oW e

humanistic approach



Options :

92090630129. 1
92090630130. 2
92090630131. 3
92090630132. 4

Question Number : 33 Question Id : 9209067621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=agER FAN e 9 ol & @9 1 oww B A O g 2, SfEw ) osmen # gw 4
TE 8-

(1)  ¥a: Tramms gesm (2) witfeafy Zfewmm
(3) T gfemm (4) WHEAER] ZEHm
Options :

92090630129. 1
92090630130. 2
92090630131. 3
92090630132. 4

Question Number : 34 Question Id : 9209067622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following aspect of social system is not the integral part of
socialization process through sports?

1. Role playing
2. Selfimage

3. Religion

4 Competition and cooperation

Options :

92090630133. 1
92090630134. 2
92090630135. 3
92090630136. 4

Question Number : 34 Question Id : 9209067622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frferfiga & & =9 |1 amfoms =aw &1 T8, S & gR AT g & wfee s A e

(1) e e &= (2) =94 gl
(3) b (4) wiEEifE 3 gam
Options :

92090630133. 1
92090630134. 2
92090630135. 3
92090630136. 4

Question Number : 35 Question Id : 9209067623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is not a written rule, but a behavioural process, which is compulsorily
followed by each family, society, religious organisation and political parties.

1. Values
2. Tradition
3. Leadership
4.

Motivation

Options :

92090630137. 1
92090630138. 2
92090630139. 3
92090630140. 4

Question Number : 35 Question Id : 9209067623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w2 Wl foran gan Fram 7 2, S 98 TS SEEnE uiE R, A6 UF qiEn, g, e, e 9
AT gl g Alad ®9 4 916 HE1 =90E |

(1) e (2) WA
(3) A9 (4) =P
Options :

92090630137. 1
92090630138. 2
92090630139. 3



92090630140. 4

Question Number : 36 Question Id : 9209067624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Win at all cost’ philosophy promotes behaviour like -

1. sportsmenship

2. commitment

3. loyalty

4. abuse of drugs
Options :

92090630141. 1
92090630142. 2
92090630143. 3
92090630144. 4

Question Number : 36 Question Id : 9209067624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Tepdlt off A o S - 29F, T =EER % %2E o §

(1) EA-9= (2) wia=Ega
(3)  TFEH (4) FETH 1 FEIET
Options :

92090630141. 1
92090630142. 2
92090630143. 3
92090630144. 4

Question Number : 37 Question Id : 9209067625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a part of Axial skeleton?
1.  Vertebral column

2 Pelvic girdle

3. Thoracic cage

4

Skull

Options :

92090630145. 1
92090630146. 2
92090630147. 3
92090630148. 4

Question Number : 37 Question Id : 9209067625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfefaa § | F97 = wefa - % 3m T8 #7

(1)  Fu%® @y (2) Ug wE (eass fuga)
(3) W = e (gnfas +9) (4) @I (FHA)
Options :

92090630145. 1
92090630146. 2
92090630147. 3
92090630148. 4

Question Number : 38 Question Id : 9209067626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Quadriceps muscles consists of how many origins or heads?

{ ER
g 2
3. 3
4. 4
Options :

92090630149. 1
92090630150. 2



92090630151. 3
92090630152. 4

Question Number : 38 Question Id : 9209067626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FATTgEy AEUE e ga @ s 3 e == 27
(1) 1 (2) 2
(3 3 (4) 4

Options :

92090630149. 1
92090630150. 2
92090630151. 3
92090630152. 4

Question Number : 39 Question Id : 9209067627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a subtype of fibrous joints?
1. Sutures
2. Synchondroses
3. Symphyses
4.

Diarthrodial

Options :

92090630153. 1
92090630154. 2
92090630155. 3
92090630156. 4

Question Number : 39 Question Id : 9209067627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fefaa 4 4 =9 91 TER FE % U -TEE 27

(1) @6 (2) fo=prsifam
(3) Toforfam (4) =« fora #i w=fa amen (srEyfzaa)
Options :

92090630153. 1
92090630154. 2
92090630155. 3
92090630156. 4

Question Number : 40 Question Id : 9209067628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term 'lipid' refers to which of the following nutrients?

1. Carbohydrate

2 Fat
3. Protein
-+ Vitamin
Options :
92090630157. 1
92090630158. 2

92090630159. 3
92090630160. 4

Question Number : 40 Question Id : 9209067628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Tafuz’ s frafafiea 4 | feaw wefiia =@ 87

(1) wEEELH (2) =
(B W (4) Taafim
Options :

92090630157. 1
92090630158. 2
92090630159. 3
92090630160. 4



Question Number : 41 Question Id : 9209067629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sodium, potassium and chlorine all collectively termed as
1. vitamins
2 triglyceride
3. triad
4 electrolytes
Options :
92090630161. 1
92090630162. 2

92090630163. 3
92090630164. 4

Question Number : 41 Question Id : 9209067629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hifea TeIfimEm 9 FER0ss i anfas &9 & S8 A6l £-

(1) fe=fm (2) eEfEmEmss
(3 s (4) SoEgIATEEH
Options :

92090630161. 1
92090630162. 2
92090630163. 3
92090630164. 4

Question Number : 42 Question Id : 9209067630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In sports training during periodization the larger training cycle is referred as

1.  microcycle

2. mesocycle

3. macrocycle

4. hetrocycle
Options :

92090630165. 1
92090630166. 2
92090630167. 3
92090630168. 4

Question Number : 42 Question Id : 9209067630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
we winem 4 safae (i) % dm 998w vivam =% GafiE 2

(1) OEH T (2) BE 9%
(3) R TH (4) #1
Options :

92090630165. 1
92090630166. 2
92090630167. 3
92090630168. 4

Question Number : 43 Question Id : 9209067631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sports Drugs and Doping controlling body WADA is acronym for
1. World Anti-Drug Agency

2.  World Anti-Doping Agency

3. World Anti-Drug Association

4. World Anti-Doping Association
Options :

92090630169. 1



92090630170. 2
92090630171. 3
92090630172. 4

Question Number : 43 Question Id : 9209067631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl ¥ I 9 Oes-g |1 A F9 % mr ae (WADA) # 5faw =y feas oo g

(1)  9v2 T g9 u (2) @ U B we
(3) o€ U oW uHItaueE (4) T U 2o uEiETE
Options :

92090630169. 1
92090630170. 2
92090630171. 3
92090630172. 4

Question Number : 44 Question Id : 9209067632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Whenever two objects collide, the force generated is known as
1. parallel force
2. reaction force
3. buoyancy force

4. Iimpact force

Options :

92090630173. 1
92090630174. 2
92090630175. 3
92090630176. 4

Question Number : 44 Question Id : 9209067632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w9 +ff 21 Tl 1 &, A1 37 59 90 I FEd & -

(1) H9FT=H 9o (2) WA 99
(3)  Irctas g (4) W9E H =
Options :

92090630173. 1
92090630174. 2
92090630175. 3
92090630176. 4

Question Number : 45 Question Id : 9209067633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In CPR, R stand for

1.  revival

2. recovery

3. resuscitation -
4. resurgence

Options :

92090630177. 1
92090630178. 2
92090630179. 3
92090630180. 4

Question Number : 45 Question Id : 9209067633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hi. .5 m. (CPR)H, R+ feu &

(1) =& wifg (faEmae) (2) A AW (fEEad)
(3) TRAEE (HEEYE) (4) TS (Feas)
Options :

92090630177. 1
92090630178. 2
92090630179. 3
92090630180. 4



Question Number : 46 Question Id : 9209067634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Surface dividing the body into left and right halves is known as
1. Sagittal Plane
2 Horizontal Plane
3. Transverse Plane
4

Frontal Plane

Options :

92090630181. 1
92090630182. 2
92090630183. 3
92090630184. 4

Question Number : 46 Question Id : 9209067634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& HAE (A1) 1 9% H1 99 7 gied 74 ° fawtam F 8, FEend &-

(1) @ b (2) w9
(3  ZEEd A (1) %= ad
Options :

92090630181. 1
92090630182. 2
92090630183. 3
92090630184. 4

Question Number : 47 Question Id : 9209067635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which section of research proposal provides background information and a
critique of previous research done on the topic?

1. Methodology
2. Review of literature
3. Title
4. Figures and Tables
Options :
92090630185. 1
92090630186. 2

92090630187. 3
92090630188. 4

Question Number : 47 Question Id : 9209067635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-TEE F HE A Fe B F TEEA 9 o W R T e g i AeE S 9RH ga
87

(1)  wafoa (2) wifeea =i |diE
(3) = (4) HAHE T =
Options :

92090630185. 1
92090630186. 2
92090630187. 3
92090630188. 4

Question Number : 48 Question Id : 9209067636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In research sampling and statistical analysis, the most basic unit from where data
can be produced is referred as

1.  unit of analysis
s set
3. subset
4

sample



Options :

92090630189. 1
92090630190. 2
92090630191. 3
92090630192. 4

Question Number : 48 Question Id : 9209067636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIAGE T 3 AieggE fEeemm § 5EH gfaie e 96 4 SRSl & Ie9ed [T A 596l g,

(1)  TFE F1 fGvemm (2)
(3) HE-I2 (4) FH"
Options :

92090630189. 1
92090630190. 2
92090630191. 3
92090630192. 4

Question Number : 49 Question Id : 9209067637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In research, part of experiment that the researchers is manipulating, is referred
as

1. dependent variable

2. fix variable

3. vyield

4. independent variable
Options :

92090630193. 1
92090630194. 2
92090630195. 3
92090630196. 4

Question Number : 49 Question Id : 9209067637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FEgA #, WA 1 v A faad g Faf Sre-dg = w R, w5 A g

(1)  wiE-=n (2) FBR-=
(3) 399 UfawA (4) T=HE =
Options :

92090630193. 1
92090630194. 2
92090630195. 3
92090630196. 4

Question Number : 50 Question Id : 9209067638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A tool of measurement for collection of data is referred as
1. measurement
2 test
3. evaluation
4

standards

Options :

92090630197. 1
92090630198. 2
92090630199. 3
92090630200. 4

Question Number : 50 Question Id : 9209067638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HiHEl & Ao & o0 g1 &5 3959 | a0 B

(1) HI9H (2) wliam
(3) oA (4) TAS
Options :

92090630197. 1
92090630198. 2
92090630199. 3
92090630200. 4



Question Number : 51 Question Id : 9209067639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of evaluation applied at the end of the year after training, course,
Semester, year is known as

—
[

summative evaluation
2. product evaluation

3. process evaluation
4

formative evaluation

Options :

92090630201. 1
92090630202. 2
92090630203. 3
92090630204. 4

Question Number : 51 Question Id : 9209067639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yfsrew, FH g HUEL ®1 94 & Hd § Yedied i Tishd1 & @0 HE, JE A4 8

(1)  AFTTeH AT (2) IeIEH YeATHA
(3) AR qeaEA (4) TEATS qoaEA (HiEH & o/ simiea)
Options :

92090630201. 1
92090630202. 2
92090630203. 3
92090630204. 4

Question Number : 52 Question Id : 9209067640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process of evaluation applied to measure the progress of a trainee each
day as at each week at each stage of training throughout the training course is
referred as

1. summative evaluation

2. formative evaluation
3. product evaluation
4.

process evaluation

Options :

92090630205. 1
92090630206. 2
92090630207. 3
92090630208. 4

Question Number : 52 Question Id : 9209067640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A i Ui faed @ o i % g, wfiem & & s W, uivyg F afafe @ ufreaE wr
TSI TR e 2, o Heha 7

(1)  ATTIeHS ediehA (2) TEATES (HATEE geareA)
(3)  IAEH HoATEA (4) wisF qeATA
Options :

92090630205. 1
92090630206. 2
92090630207. 3
92090630208. 4

Question Number : 53 Question Id : 9209067641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The best method of sports administration is

1. autocratic

2. democratic

3. dictatorial

4. laissez faire
Options :

92090630209. 1
92090630210. 2
92090630211. 3
92090630212. 4

Question Number : 53 Question Id : 9209067641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el WEEA i 3an fafy 2l

(1)  HEE (2) wAIES

(3)  AFTE (4) orEeEm fafy
Options :

92090630209. 1
92090630210. 2
92090630211. 3
92090630212. 4

Question Number : 54 Question Id : 9209067642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not the objective of extramural competitions?
1. To achieve high performance at highest level of the tournament
2. Provide opportunities for choosing a career in sports
3. Tofocus on fithess and wellness of children
4.

To promote social, cultural, economic development through sports

Options :



92090630213. 1
92090630214. 2
92090630215. 3
92090630216. 4

Question Number : 54 Question Id : 9209067642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 9 | = W Fm-uER g9 #3299 27

(1)  3=a =W i yfeafia § I=9-esia 1 afas

(2) Ed U9 % F9H g9 & AGEH TEH FH |

(3)  ==ai i 9 3R FETEE W HEE w5

(4) Tl G HHEIES, ARFGH 9 S1dE fGEE F A 6

Options :

92090630213. 1
92090630214. 2
92090630215. 3
92090630216. 4

Question Number : 55 Question Id : 9209067643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many ‘byes’ are to be given if 21 teams are participating in a knock out
tournament?

1. 10
2. 11
3 15
4. 13
Options :

92090630217. 1
92090630218. 2
92090630219. 3
92090630220. 4

Question Number : 55 Question Id : 9209067643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Ife s A7 WIe gAMe # 21 FH W o W E, A e s & wmii

(1) 10 (2) 11
(3 15 4) 13

Options :

92090630217. 1
92090630218. 2
92090630219. 3
92090630220. 4

Question Number : 56 Question Id : 9209067644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many medals had India won in the Tokyo Olympic Games?
1. 1 Gold 2 Silver 4 Bronze
2. 1Gold 1 Silver 5 Bronze
3. 1Gold 3Silver 3Bronze
4.

1 Gold 4 Silver 2 Bronze

Options :

92090630221. 1
92090630222. 2
92090630223. 3
92090630224. 4

Question Number : 56 Question Id : 9209067644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2l STy Gl § WRa 4 e fga ¢

(D 159 2 T 4 T (2) 1%F9 1734 5 F
(3) 159 3 794 3 S (4) 1839 4 7949 2 F
Options :

92090630221. 1
92090630222. 2
92090630223. 3
92090630224. 4



Question Number : 57 Question Id : 9209067645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first Asian Games were held in the year

1. 1950
2. 1951
3. 1962
4. 1968
Options :

92090630225. 1
92090630226. 2
92090630227. 3
92090630228. 4

Question Number : 57 Question Id : 9209067645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ymuiEEEa ey HEu

(1) 1950 (2) 1951
(3) 1962 (4) 1968

Options :

92090630225.
92090630226.
92090630227.
92090630228.

AW N —

Question Number : 58 Question Id : 9209067646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The British Empire Games now known as Common Wealth Games were held at
Hamilton (Canada) in the year

1. 1896
2. 1891
3. 1911
4. 1930
Options :

92090630229. 1
92090630230. 2
92090630231. 3
92090630232. 4

Question Number : 58 Question Id : 9209067646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafem s @9, 5% 19 ‘=i 959 ' F AW § 99 9 &, = o gfieea
(F12T) § HEfad g 9
(1) 1896 (2) 1891
(3 1911 (4 1930

Options :

92090630229. 1
92090630230. 2
92090630231. 3
92090630232. 4

Question Number : 59 Question Id : 9209067647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



While putting a shot, a curved stop board painted white shall be fixed in the
middle of the circumference in front half, so as the inside edge coincides with
the inner edge at the circle. The dimensions of this stop board should be

1. 1-25-1-40 m long on the inside, 10-5-11-0 cm wide and 9-10 cm
high

2. 1-15-1-30 m long on the inside, 9-5-11-5 cm wide and 8-10 cm high

3. 1-:35-1-50 m long on the inside, 12-12-5 cm wide and 10-12 cm
high

4. 1-21-1-23 m long on the inside, 11-2-11-4 cm wide and 9.8 to
10.2 cm high

Options :

92090630233. 1
92090630234. 2
92090630235. 3
92090630236. 4

Question Number : 59 Question Id : 9209067647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Fohd A9 UF TR =20 912 9 F I90Y § F=91 99 18 v w9 2 sme e
form, 99 % siget foFam & oo @ 2 | =W 4 w1 afemg g9 9ifEe

(1) g 6 T F 1.25- 1.40 7. @41, 10.5 § 11.0 .91, 9tz 3 9.10 E.5. F=0

(2) HEH WA H 1.15- 1.30 . =1, 9.5 5 11.5 4.9, =g @ 8-10 E.8. F=

(3) FE A FE 1857 1500 =1, 12-12.5 §.01. I=r 31 109 12 .41 3=

(4) FEH AR H 1219 1.23H. @491, 11.2-11.4 H.90. 9= #8989 10.2 €5, F=0

Options :

92090630233. 1
92090630234. 2
92090630235. 3
92090630236. 4

Question Number : 60 Question Id : 9209067648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What should be the number and duration of rounds for women in an Intermational
Boxing Championship?

1. 3 rounds of 3 min duration each
2. 5 rounds of 2 min duration each
3. 4 rounds of 2 min duration each
4. 3 rounds of 2 min duration each

Options :

92090630237. 1

92090630238. 2

92090630239. 3
92090630240. 4

Question Number : 60 Question Id : 9209067648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Afeensl &1 AW gekars wfefa § 1igs £ smfa 3 en e a2

(1)  373eR, 7= 3 fime s@fa = (2) 573EH, v 2 foae @iy &
(3)  47EEH, 9% 2 fime sEfg = (4) 3T3zH, I+ 2 fime smfa =
Options :

92090630237. 1
92090630238. 2
92090630239. 3
92090630240. 4

Question Number : 61 Question Id : 9209067649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In football a is awarded to the defending team if the opposing team causes
the ball to go over the goal line.

1. corner kick
2 goal kick
3. throw-in
4

penalty kick

Options :



92090630241. 1
92090630242. 2
92090630243. 3
92090630244. 4

Question Number : 61 Question Id : 9209067649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uF Feard wiaaia § afg fauef Iw, @@ F e-aeT F S E T 99 3 2, 99 wes W
faenfeai =i WG & A1 # |

(1) = (2) = e
(3) "-= (1) T o
Options :

92090630241. 1
92090630242. 2
92090630243. 3
92090630244. 4

Question Number : 62 Question Id : 9209067650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the current President of Indian Olympic Association?
1. M. C. Mary Kom
2. P.T.Usha
3. Karnom Malleshwari

4. Saina Nehwal

Options :

92090630245. 1
92090630246. 2
92090630247. 3
92090630248. 4

Question Number : 62 Question Id : 9209067650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR 3T 99 % 96999 798 FH1 27

(1) wmdl. o= (2) .. Fm
(3)  FH Teeigai (4) T IEATE
Options :

92090630245. 1
92090630246. 2
92090630247. 3
92090630248. 4

Question Number : 63 Question Id : 9209067651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Professional preparation of physical education teacher is governed by

1. UGC

2. AICTE

3. NCTE

4. NAAC
Options :

92090630249. 1
92090630250. 2
92090630251. 3
92090630252. 4

Question Number : 63 Question Id : 9209067651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i e sensi 6 saaas S I HaETteAd =i AT 2
(n s (2) uwHEHAL
(3) wWHAL (49 TAUTH.

Options :

92090630249. 1
92090630250. 2
92090630251. 3
92090630252. 4



Question Number : 64 Question Id : 9209067652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first institute in India to propagate indigeneous physical activities is
1. LNIPE, Gwalior
2.  HVPM Amaravati
3. YMCA Madras
4. SAl

Options :

92090630253. 1
92090630254. 2
92090630255. 3
92090630256. 4

Question Number : 64 Question Id : 9209067652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE i GRaTReTd S 9RA | w=EIiE 9 S vy e 21

(1) UA.TA.308.9., Efaa (2) v=.E b m., FEEd

(3) SR, B (4) W, (THU.5M)
Options :

92090630253. 1
92090630254. 2
92090630255. 3
92090630256. 4

Question Number : 65 Question Id : 9209067653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT the function of Indian Olympic Association?
1.  Conduction of Rules and Regulations

2 Promotion of Amateurism
3. International Representation
4

Offer Degree and Diploma Course

Options :

92090630257. 1
92090630258. 2
92090630259. 3
92090630260. 4

Question Number : 65 Question Id : 9209067653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 1 & F1 m, IR il 5 w5 w5 T 2

(1) vt g fafaei = d=em (2) FifeRmn/ s=an fiEangi-ureaTE
(3)  FWiYE gk (4) feit 3 femrn =@ werfaa e
Options :

92090630257. 1
92090630258. 2
92090630259. 3
92090630260. 4

Question Number : 66 Question Id : 9209067654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : According to pragmatism, reality is determined by an
individual's life experiences, the individual learns the truth
through experiences.

Reason (R) : Educational institutes with pragmatic orientation follow the
approach of ‘learning by doing’ with a child centered
approach.

In the light of the above two statements, choose the most appropriate answer
from the options given below:

1. Both (A)and (R) are correct and (R) is the correct explanation of (A)

2. Both (A)and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4.  (A)is not correctbut (R} is correct

Options :

92090630261. 1
92090630262. 2
92090630263. 3
92090630264. 4

Question Number : 66 Question Id : 9209067654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hr= 21 @ fou o 2 uRen sifeREd (A) AE gE0 HEW (R) F BT W

Ffugea (A):  SEREAR & AIEN aaiasal SAied & e & qual § FgiiE g6 8, s
SINE] F "I § §e F HEa 2|

FW (R) : RIS G aTel e FEH ST higa S % 61, HEH % gl
&1 U A E

IWIT HYH & AN, 914 T80 v ol § | 56 I * gAE Hifa

(1) (A3 (R) A |8l & a2 (R), (A) 1 =&l =w= 2|
(2) (AT (R)THi @8 &, 9 (R), (A) i =&l =ame T8 21
(3)  (A)@E 8, W (R) oM B
(4) (A 7em 2, wg (R) 56 2
Options :



92090630261. 1
92090630262. 2
92090630263. 3
92090630264. 4

Question Number : 67 Question Id : 9209067655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Determining personality characteristics of an individual is
difficult and challenging.

Reason (R) : Typical response and role related behaviour don't always
reflects a person's true personality.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)istrue but (R)is false
4. (A)isfalse but (R)is true

Options :

92090630265. 1
92090630266. 2
92090630267. 3
92090630268. 4

Question Number : 67 Question Id : 9209067655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hr g1 & fou T # : ugen YA (A) Au1 gE0 FAW (R) % FU W ¢

AR (A): T =l % =fEaa & fagmas # g F5, wie S g R )

FR (R) : fafire wiafen R qfve =i =@en, #9m =afF & awafas =@fEdaa & TE@
29T |

ITF F9H F FAR, T4 fau m famwed § 1 56 3w #1 g Fifaw -

() (A3 R)THE FE #3940 (R), (A) H 7 =are 2|

(2) (A3 (R)IF | &, Al (R), (A) Hi & =men T8 1
(3) (AT 2, Wq (R) oM 2|

(4)  (A) 7o B, W (R) W1 2

Options :

92090630265. 1
92090630266. 2
92090630267. 3
92090630268. 4

Question Number : 68 Question Id : 9209067656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : In the arm curl, the wrist is held in a fixed position to keep it
in line with the fore arm as the elbow flexes and extends.

Reason (R) : The wrist flexors and extensors are contracted isometrically
to keep the wrist fixed.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A)and (R) are true and (R) is the correct explanation of (A)

2. Both (A)and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)is true but (R) is false
4. (A)is falsebut (R) is true
Options :

92090630269. 1
92090630270. 2



92090630271. 3
92090630272. 4

Question Number : 68 Question Id : 9209067656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fr= &1 o fou o 2 gEen ST (A) TE g0 FEW (R)F FT W

AfuweE (A):  AW-Fe | FoE H U S @ H fRR sEen § wEn A 8, @i S
sigfaa i ferania & 2

F0 (R) : FAE § TaEd 3N THEEL § gOF B9 § fEgE & woEsy S o w2
IHIT HYH & FAN, 4= 80 mu o § | 16 39 w1 gAE i

(1) (AT (R) H1 581 & 991 (R), (A) i =1 =men 2 |
(2) (AT (R)ZH T8 F, I (R), (A) i =& =amen T8 71
(3) (AT 8, W (R) T &
() (A)TeE 7, WG (R) AR
Options :
92090630269. 1
92090630270. 2

92090630271. 3
92090630272. 4

Question Number : 69 Question Id : 9209067657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Not all carbohydrates are physiologically equal. Digestion
rates of different carbohydrate sources possibly explain the
link between carbohydrate intake, diabetes and excess body
fat.

Reason (R) : Foods containing dietry fibers slow down carbohydrate
digestion, minimizing surges in blood glucose.

In the light of the above two statements, choose the correct answer from the
options given below :

1. Both (A)and (R) are true and (R) is the correct explanation of (A)

2. Both (A)and (R) are true but (R) is NOT the correct explanation
of (A)

3. (A)is true but (R) is false

4. (A)is falsebut (R) is true

Options :

92090630273. 1
92090630274. 2
92090630275. 3
92090630276. 4

Question Number : 69 Question Id : 9209067657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



441 g1 %o feu U E : vEen A (A) 391 990 RV (R) F T W

HAfiF (A) ol FEEEL WHEFETES ¥ H #9E T8 ' 8| b FweEnge =m
a2 BYad: FEREE T80 &, UgHE 3R AfdiEm i = & 49 ga9g
T TE FAT B |

FU (R) - TR 9 HTER FETEESZ I U= 40 Fd d a9 @ § w0 F1 °E & FH
FAEI

ITIF FH F FAR, 49 o m famei § 2 58 3w = g i -

()  (A)F (R)SHI #81 & 391 (R), (A) FI 5l =9w 2 |

(2) (AT (R)ZHT T8 &, 791 (R), (A) 1 &7l =3ve 761 2|
(3) (AW 8, WY (R) T B

(4)  (A)7TeE &, T (R) &8 2

Options :

92090630273. 1
92090630274. 2
92090630275. 3
92090630276. 4

Question Number : 70 Question Id : 9209067658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : According to Tuder Bompa (2015), periodization is in fact a
bundle of methodological concepts whose application can be
adapted to specific situations. For this reason it can take
many forms and coaches should be aware of the existence
of various planning models, each of which is more indicated
for certain sports and for certain athletes development
levels.

Reason (R) : To achieve best results in sports, coaches should have
strong knowledge of exercise physiology and they require to
do constant monitoring, assessment and adjustment of the
training program.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A)and (R) are correct and (R) is the correct explanation of (A)

2. Both (A)and (R) are correct but (R) is NOT the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correctbut (R) is correct

Options :

92090630277. 1
92090630278. 2
92090630279. 3
92090630280. 4

Question Number : 70 Question Id : 9209067658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fr g1 & fou u # : vEen sifEEa (A) AW gE0 FA0 (R) % FO W ¢

FifiReE (A) TER. FE (2015) % FEN FEfuEw (fiEEEeeH) arad § TgieE Aaunems
F UH 954 & [A9w Awam fafre et F G aggia (vEw) o
AT 2| 30 9 T8 999 =R =1 #@ 55 B, 3749 S = fGfie aea-giee
F 91 H AreE EF1 91EL, S 9 @dl @R $9 Uhde faemEes w1 & A
wifirr i fom T #

F=M (R) : el 4 399 ufomm we w9 & fow wE =1 oir Grares = = 3| 3 EE
afeu e R, WeeE 3 auEeE R S FwREEe 0 @man e 6
SATITEE B B |

IR FYA F FFAR, 2 fGu e fawesi § | |16 3w # g i

(1)  (A)d (R) TFI 961 & @91 (R), (A) I 921 =1 8 1

(2) (AT (R)ZH 78 &, 9 (R), (A) i =6 =men T8 21
(3) (A FE 8, Wg (R) A &

(4)  (A)7eW B, W (R) ¥ 2

Options :

92090630277. 1
92090630278. 2
92090630279. 3
92090630280. 4

Question Number : 71 Question Id : 9209067659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Having an opinion is the same as having a philosophy.

Reason (R) : In philosophical research, beliefs must be subjected to
rigorous criticism in the light of fundamental assumptions.

In the light of the above two statements, choose the correct answer from the
options given below :

1.  Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is NOT the correct explanation
of (A)

3.  (A)istrue but (R) is false

4. (A)is false but (R) is true

Options :

92090630281. 1
92090630282. 2
92090630283. 3
92090630284. 4

Question Number : 71 Question Id : 9209067659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g1 w2 o o B gmen s (A) 791 250 AW (R) % F9 A

FfiERed (A) - UF WA A1, U T3 WEE B 6 99E # |

+ (R) - TreEiThee fEd 1 WaasAl & difes A & A H, ®IR ATHE &
A A =i |

IWIF FYA F FEN, = fau 7 famweal § | |14 39 w1 gAE Fifau

(1)  (A)F (R) FF1 981 & a2 (R), (A) =1 71 == 21

(2) (AT (R)IA =8 &, &6 (R), (A) 51w =amea 76 & |
(3)  (A)EH 8, WY (R) Tod |

(4) (A 7TeE B, g (R) HE )

Options :

92090630281. 1
92090630282. 2
92090630283. 3



92090630284. 4

Question Number : 72 Question Id : 9209067660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) :© A manager in a sports organization can go by many titles like
athletic manager, athletic directors, sports director, club
manager.

Reason (R) : Every sports manager should have enough knowledge of

sports and desirable to have played sports at some level.

In the light of the above two statements, choose the correct answer from the
options given below :

1. Both (A)and (R) are true and (R) is the correct explanation of (A)

2. Both (A)and (R) are true but (R) is NOT the correct explanation
of (A)

3.  (A)is true but (R) is false
4. (A)is falsebut (R) is true

Options :

92090630285. 1
92090630286. 2
92090630287. 3
92090630288. 4

Question Number : 72 Question Id : 9209067660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g1 wem few mu # ;. wmen SR (A) 791 250 A (R) % F9 H

AT (A) EE O U UF TEYE, UHHE YEYsE, yeiE v, ooe uEus A9 % ol

AAMEFTEI

AT (R) : osff T WEYH 1 S 1 TG 7H EF1 S0 791 9ifed 9§ I35 3= T W

W ¥ Wi g =E |

IHIT FY F FAN, F= fou 7 famwed § 7 |56 3w w1 gAE i

(1)
(2)
(3)
(4)

(A) 3 (R) 1 |el & a9 (R), (A) =1 5l =01 2 |

(A) = (R) g1 w4l &, =i (R). (A) i Hel =2me T8 2 |
(A) HEl B, 9 (R) e B

(A) e &, W (R) 58 R

Options :

92090630285. 1
92090630286. 2
92090630287. 3
92090630288. 4

Question Number : 73 Question Id : 9209067661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

With special reference to the venues of Olympic Games, arrange the following
cities in their chronological order :

m o 0o w »

Seoul

Amsterdam

St. Louis

Rome

Beijing

Choose the correct answer from the options given below :

1.
&
3=

4.

B.C.ADE
C,B,D,AE
DB CEA

B,A,C,D,E

Options :
92090630289. 1



92090630290. 2
92090630291. 3
92090630292. 4

Question Number : 73 Question Id : 9209067661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAH Sl & FAEE el & 99 med § FefafEa wel 1 76 FeEas w0 Hosaredd
Fifau-

(&) fase
(B) umwgEw
(C) #He oEH
D) T

(E)  =ifam

Jr= fau mu femeai ° | | I = gAE Fifau

(1) (B), (C), (A), (D), (E) (2)  (C), (B), (D), (A), (E)
(3) (D), (B), (C), (E), (A) (4) (B), (A), (), (I, (E)
Options :

92090630289. 1
92090630290. 2
92090630291. 3
92090630292. 4

Question Number : 74 Question Id : 9209067662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the hierarchy of needs given by Maslow (1954) in order of priority :

m o O mw p

Safety needs
Intellectual needs
Social needs
Physiological needs

Self actualisation

Choose the correct answer from the options given below :

i.
2
=
4

Options :

D,A,B,CE
D,ACBE
C.,A,D,B, E
A,C,D,B,E

92090630293. 1
92090630294. 2
92090630295. 3
92090630296. 4

Question Number : 74 Question Id : 9209067662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I (1954) 3R 58 MU smavasaisl & TeEE w1 mafisa % % | sgatem Fifae-

(A)
(B)
(C)
(D)

(E)

4= fou o fawedi @ | A4 I = gAE Fifan

(1)
(3

Options

TS ATl
EliEcRCICE )
A ATl
YRR - Torarere savasal

e -

(D), (A), (B), (C), (E)
(C). (A), (D). (B), (E)

92090630293. 1

(2) (D), (A), (C), (B), (E)
(4)  (A), (C), (D), (B), (E)



92090630294. 2
92090630295. 3
92090630296. 4

Question Number : 75 Question Id : 9209067663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amrrange glycolytic energy pathway of human body system in a sequential
order :

Fructose-6-phosphate
Glucose-6-phosphate
Glycogen

Phosphoglycerate

m o 0o w »

Glucose 1-phosphate

Choose the correct answer from the options given below :
1. GC,E,A,B,D

2. C,D,EBA

3. CBEDA
4.

C.E,B.AD

Options :

92090630297. 1
92090630298. 2
92090630299. 3
92090630300. 4

Question Number : 75 Question Id : 9209067663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIAE IHR YIS H SR Fa) Rl H1 FHEER sHategd Hifa
(A)  HEE-6-FER
(B)  THMA-6-FEHE

(C)  TEATEHISH
(D)  HERTEAEEE
(E) T 1. 5FR

Jr feu o famwedl @ @ #6 IW = g9 Fifau

(1) (C), (E), (&), (B). () (2) (C), (D). (E), (B), (A)
(3) (C), (B), (E), (D). (A) (4) (C), (E), (B), (A), (D)
Options :

92090630297. 1
92090630298. 2
92090630299. 3
92090630300. 4

Question Number : 76 Question Id : 9209067664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following actions involved in writing research report in sequential
order :

Reviewing literature
Data collection
Identifying problem

Designing of hypothesis sp.

m o o x »

Data analysis

Choose the correct answer from the options given below :
1. A,C,B,D,E

2. C,A/D,BE

3. C,D,ABE

4. A/C,D,BE



Options :

92090630301. 1
92090630302. 2
92090630303. 3
92090630304. 4

Question Number : 76 Question Id : 9209067664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s fue fored | sfmfem wei =i sl w0 o srafum Hifu-
(A)  wfEes = FeiE
(B) gl 1 U
(C)  Fwe &l T89H
(D)  IiEhes &1 =

(E)  Am%gi =1 fawemm

= feu 0 fasedi | | 96 I = 994 S

(1) (A (O). (B), (D), (E) (2) (C), (A), (D), (B), (E)
(3) (C), (D), (A). (B), (E) (4) (A, (C), (D), (B), (E)
Options :

92090630301. 1
92090630302. 2
92090630303. 3
92090630304. 4

Question Number : 77 Question Id : 9209067665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange following steps In a sequential order for constructing a good physical
fitness test :

A. Validity

B. Reliability

C. Obijectivity

D. Selection of items
E. Norms

Choose the correct answer from the options given below :
1. A,B,C,D,E
2. B,D,ACE
3. D,BCAE
4.

D:A,B.C.E

Options :

92090630305. 1
92090630306. 2
92090630307. 3
92090630308. 4

Question Number : 77 Question Id : 9209067665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TF w= Wi gfe wWiem & i % = fe e i %) weEn st Sifae-

(&)  Fua
(B) Tawagmm
(C) =B

(D) HEl #1 =5

(E) TWHeE

Hr= feu o fawedi @ | |8 I = g9E Fifa

(1) (A), (B), (C), (D), (E) (2) (B), (D), (A), (C), (E}
(3) (D), (B), (C). (A), (E) (4) (D), (A), (B), (C), (E}

Options :



92090630305. 1
92090630306. 2
92090630307. 3
92090630308. 4

Question Number : 78 Question Id : 9209067666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the total number of matches to be played in various types of
tournaments, arrange the following statements in ascending order :

A. ateams are participating in a round robin tournament.
11 teams are participating in a knock out tournament.

B

C. 11 teams are participating in a league tournament

D. 13 teams are participating in a elimination tournament
E

7 teams are participating in a league cum knock out tournament

Choose the correct answer from the options given below :

1. A.B CED

2. B,D,E A C

3. C,B,D AE

4. D.C,B,EA
Options :

92090630309. 1
92090630310. 2
92090630311. 3
92090630312. 4

Question Number : 78 Question Id : 9209067666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafu= ver &1 gleaifms 4 @« T d9) & F9 q8 % W9ER a8 U FeEi w6 9ed gu e |
=qaferm Hifau-

(A) U TIe-Tfe vl § 9 I femm @ w2
(B) ATH-ATE2 ufa=iman § 11 Ji femm o 6 2

(C) = wiaafen § 11 & femm & @ 2

(D) ueindeE wfamfm 8 13 7 9w S @ 2

(B)  ofm-sm-Aiss e wiaaifna § 7 8% 9w & @ 2

1% o e Feet B @ Wl 3 1 T

(1) (A). (B), (C), (E), (D) (2) (B), (D). (E), (A), (C)
(3) (C), (B), M), (A), (E) (4) (D), (C), (B), (E), (A)
Options :

92090630309. 1
92090630310. 2
92090630311. 3
92090630312. 4

Question Number : 79 Question Id : 9209067667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following sports in ascending order according to their requisite
number of playing members during a match :

Kabaddi
Basketball
Football

Kho-Kho

m o O B p

Volleyball

Choose the correct answer from the options given below :
1. B,AE,D,C

2. B,E,ADC

3 ‘E;B,D,ALC

4. C,D,AEB
Options :



92090630313. 1
92090630314. 2
92090630315. 3
92090630316. 4

Question Number : 79 Question Id : 9209067667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TrefafEa wei %1 @a % SF Fuiea faarieal 1 56 & AJ6N g2 % § Faiedd Hifau;
(A) wEE

(B) HEhIET

(C) =

(D) ==

(E)y die=e

feu mu fasred | w1 I = TR Fifau

(1) (B). (A), (E), (I, (C) (2) (B), (E), (A), (D}, (C)

(3) (E), (B), (D), (A), (C) (4) (C), (D), (A), (E}, (B)
Options :

92090630313. 1
92090630314. 2
92090630315. 3
92090630316. 4

Question Number : 80 Question Id : 9209067668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statements (1) : Sports historians examine the historical development of
sports to describe and analyze evolution of sports and explain
emergence of new trends.

Statements (Il) : How the ‘new physical education’ developed and what are the
conditions under which exercise and sports science emerged
is studied by sports historians.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement (I) and Statement (Il) are correct

2. Both Statement (I) and Statement (l1) are incorrect
3. Statement () is correct but Statement (Il) is incorrect
4.

Statement (1) is incorrect but Statement (1) is correct

Options :

92090630317. 1
92090630318. 2
92090630319. 3
92090630320. 4

Question Number : 80 Question Id : 9209067668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H= & e for T -
FeA (I):  ©A SOEESR WAl & [GHE & 90 3 [G9eme &4 a91 70 01 % 3599 1 901 TH
o &l % tfamtas fawm & 9= %54 & |

FA (1) . 769 e e’ = fam &8 gan aw fe oitefml & =mm 3 9a s = 32
Fo1, THH AT T SEEN Fd 7 |

IRITE FYHI & AGE W, 1= fou T fwew § | |76 I F g9E Hifaw
(1)  FE (DT FH (DS T8 2 |
(@  FHOIFHE ADEAI A E |

(3)  wuE () FE 7, WA FEA (1) T B
(4)  wUF (1) TEd 8, wife e (1) 961 & |
Options :
92090630317. 1
92090630318. 2



92090630319. 3
92090630320. 4

Question Number : 81 Question Id : 9209067669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements (1) : According to cognitive domain, remembering is the ability to
recall and retrieve relevant knowledge from memory.

Statements (Il) : Ability of an athlete to mention basic skills of sports or
students ability to identify health related components of
fitness is reflection of applying.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement (l) and Statement (Il) are true

2. Both Statement (1) and Statement (Il) are false

3. Statement (l) is true but Statement (ll) is false

4. Statement (1) is false but Statement (ll) is true
Options :

92090630321. 1
92090630322. 2
92090630323. 3
92090630324. 4

Question Number : 81 Question Id : 9209067669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FEA (1) .  AFARES FHEE F AR, q1E & 98 gl 2 F Wi 9 80 9% FA 991 FEia 9@
ﬁ[?mﬁﬁil

FgA (I1) . v faardl & smamE wee i 9rga w1 oo w6 91 B e i |mre qetiE i
% UHI 1 TEEH FAA I AEE AT H TidiaeE 2 |

IRIH HAA % G T, A4 v 7 fawedi 4 | w6 3w w5 gAE i

(1) =% ()9 9= (1) aF =58 & |

2y wF (DT FH (1D T e 7 |

(3) A (D) FE &, S w99 (1D T B |

(4) = (1) Terd 8, ofea w2 (1) &6 7

Options :

92090630321. 1
92090630322. 2
92090630323. 3
92090630324. 4

Question Number : 82 Question Id : 9209067670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statements (1) : Heart rate elevation during exercise is primarily controlled by
sympathetic stimulation from the higher somatomatar centers
of the brain.

Statements (Il) : The heartrate response is directly proportional and linear to
the intensity of exercise.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement (1) and Statement (lI) are correct

2. Both Statement (I) and Statement (ll) are incorrect
3. Statement () is correct but Statement (Il) is incorrect
4. Statement (l) is incorrect but Statement (1) is correct

Options :
92090630325. 1
92090630326. 2



92090630327. 3
92090630328. 4

Question Number : 82 Question Id : 9209067670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRgsmfmmE.
FeE (I): =A@ % LUE 889 T & 984 T ¥9 § Uiash & =9 2ME i &3 9 i
Foa g et g 2

A (1) : gga 0fa i vfafran =mam H fam F s 3 6@ e )
IR FYAT & AGR W, 1= fou 1 fawedi § @ @€ 39 1 g9a Hifa

(1) %A (I) 9 HeA (D) oF |98 & |
(2) @y (D)3 &g (D EH Ted § |

(3)  FEE () FE 8, ol w9 (1) 7o & |
() e (1) oA 8, AR F99 (1) T8 & |

Options :

92090630325. 1
92090630326. 2
92090630327. 3
92090630328. 4

Question Number : 83 Question Id : 9209067671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statements (1) : Circuit training may be used from the first week of

anatomical adaptation phase.

Statements (Il) : Exercise during this phase must be selected by involving

most muscle groups, irrespective of the needs of specific
sport.

In the light of the above statements, choose the most appropriate answer from

the opt

1.

ol

ions given below :

Both Statement (|) and Statement (Il) are correct
Both Statement (1) and Statement (Il) are incorrect
Statement (l) is correct but Statement (ll) is incorrect

Statement (l) is incorrect but Statement () is correct

Options :

92090630329. 1
92090630330. 2
92090630331. 3
92090630332. 4

Question
Question

Number : 83 Question Id : 9209067671 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

H & Fo fem o E

HYA (1) :  FehE WioEw & FEM IHR =41 AHheH & UUW 9918 @) FEEd § S 0 5 2|

HEE (1) . 79 FFE & oA fafire @9 & FEEsas] & AGR W A& Ay AuHae JeeE &

HYE % AW 1 =9 R S =i |

IWIF FE1 % AGR W, F Gu mu fawedi 4 | w6 a3 w1 g9 i

(1)
(2)
(3)
(4)

Options :

F27 (1) 9 FeA (D) TH T8 & |
w9 ()3 %A (1) H1 Tom # |

FeA (1) 981 &, =il 23 (1) o4 & |
FeA (D) 7ed 2, &3 29 (1) 9dt 2

92090630329. 1



92090630330. 2
92090630331. 3
92090630332. 4

Question Number : 84 Question Id : 9209067672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statements (1) : Foot moving towards the anterior surface of the leg is
dorsiflexion.

Statements (Il) : Foot moving towards the posterior surface of the leg is
plantarflexion.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement (1) and Statement (Il) are correct

2. Both Statement (1) and Statement (ll) are incorrect

3. Statement () is correct but Statement (ll) is incorrect

4. Statement (l) is incorrect but Statement (ll) is correct
Options :

92090630333. 1
92090630334. 2
92090630335. 3
92090630336. 4

Question Number : 84 Question Id : 9209067672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o g wo fem o #
FUF (1) : T 20 & AAHF Fa8 B AR THT SRETREEH # |
F (ID) - T =1 2 1 oE - F 50 T Sy B

IR FHYAET * A9 W, = fou T T 4 3 |58 3w w1 g9E Fife
(1) &% ()d FeE (10 o |98 & |
(2w (D)3 F=a (1) TH 754 & |
(3  wEE ()T &, Al A (1) T R
(4)  FEF (1) T 2, S Fe (1) T R
Options :
92090630333. 1
92090630334. 2

92090630335. 3
92090630336. 4

Question Number : 85 Question Id : 9209067673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statements (1) : Type-l| error—Rejection of the null hypothesis when the null
hypothesis is true.

Statements (ll) : Type-Il error—Acceptance of the null hypothesis when the
null hypothesis is false.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement (I) and Statement (l1) are correct

2. Both Statement (I) and Statement (I1) are incorrect
3. Statement () is correct but Statement (11) is incorrect
4

Statement (1) is incorrect but Statement () is correct

Options :

92090630337. 1
92090630338. 2
92090630339. 3
92090630340. 4



Question Number : 85 Question Id : 9209067673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o g wa e E

FH (D) 2E9-1 FR I3 uiteem (A9 eEuidifas) i srEisla 78 3 vieer 56 7
FF (1) : ZFa-11 Fe-= vimwemn 61 =il 98 33 e 5= 8@ |

I HEE = N9R W, = fou e fawmedi 4 3 |16 3w w1 g9E Fifa

(1)  ®F () F FA (1) T4 Fel & |

(2) a3 A (1D A T4 # |

(3) A (1) FE 2, @A &= (1) 7o 2 |

(4)  wE () T &, SR w9 (1) FE R

Options :

92090630337. 1
92090630338. 2
92090630339. 3
92090630340. 4

Question Number : 86 Question Id : 9209067674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statements (1) : Reading taken with a test to determine quantity is known as
measurement.

Statements (ll) : Comparing the measurement with other standards for
judgement is known as evaluation.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement (I) and Statement (l1) are true
2. Both Statement (I) and Statement (l1) are false
3. Statement (l) is true but Statement (11) is false
4

Statement (1) is false but Statement (l1) is true

Options :



92090630341. 1
92090630342. 2
92090630343. 3
92090630344. 4

Question Number : 86 Question Id : 9209067674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 71 Fo fow o E

weE () : e fyiiE 27 F fou ohaw F g = w8 $&in %1 am F =9 8§ om 9 2
FA (I1) - =+ fofa &9 & fou o= 99 & w19 910a 1 G@1 S0 Iedied & §9 5 FE 96 2 )
IR FYH = YR |/, = G 1w faweni 4 3 |56 3w w1 g9E Fifa

(1)  FeF ()9 FH (D) A 6 E |

(2) FEE (DI FH (1) FE T4 E

(3)  FEE () FE B, A =21 (D) o B

(4) A (1) T &, ofeRa &9 (1) #E 2 |

Options :

92090630341. 1

92090630342. 2

92090630343. 3
92090630344. 4

Question Number : 87 Question Id : 9209067675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following approaches will help in developing unique strategies to
motivate athletes?

Cognitive and pedagogical
Load and recovery
Social support and facilitation

Vigorous and continuous

m o O B p

Physical and physiological attributes

Choose the correct answer from the options given below :
1. B andE only

2 C, D and E only

3. AandConly
4

A, B and D only

Options :

92090630345. 1
92090630346. 2
92090630347. 3
92090630348. 4

Question Number : 87 Question Id : 9209067675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FfafEa 1 | =4 w1 e faenfzal =i 9\ w06 % o s ot fTiEm w0 1 9eg 5om |
(A) IS 3R HefrE

(B) WRE H: WK

(C)  \miae wRe F gl

(D)  w9EA g HeE

(E) wrifeE 3 vl freares

feu mu faedi | | HE I w1 gAE Fif

(1) Faa(B)3 (E) (2) =4 (0), (D)F (E)
(3) = (A)F(C) (4) ad (A), (B)3 (D)



Options :

92090630345. 1
92090630346. 2
92090630347. 3
92090630348. 4

Question Number : 88 Question Id : 9209067676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are similarities between sport and religion?
Belief system
Materialistically driven
High councils and heads

Clear-cut winner

m o o w »

Use of symbols

Choose the correct answer from the options given below :
1. A, Cand D only

2 A, D and E only

3. A, B and C only

4. A,CandEonly

Options :

92090630349. 1
92090630350. 2
92090630351. 3
92090630352. 4

Question Number : 88 Question Id : 9209067676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& 9 ud & o9 f= d 8 %6 9@ e 2-
(A)  wTE

(B)  ifaerariean gr w=mfed

(C) i s 3= FEfHE

(D) e fa=a

(E)  Wel=hi =1 30

feu u fareql § | @ I F A FiU

(1) = (A), (C)F (D) (2) = (A), (D) (E)

(3) A (A), (B) 3 (C) (4) =aEd (A). (0)F (E)
Options :

92090630349. 1
92090630350. 2
92090630351. 3
92090630352. 4

Question Number : 89 Question Id : 9209067677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the short term effects at exercise on respiratory
system?

A. Residual volume increases

B. Tidal volume increases

C. Rate of exchange of gas increases

D. PFulmonary diffusion increases

Choose the most appropriate answer from the options given below :
1. AandB only
2. BandConly

3. CandDonly

4

D and A only

Options :

92090630353. 1
92090630354. 2
92090630355. 3



92090630356. 4

Question Number : 89 Question Id : 9209067677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= | 9 F1 | \@69-7 W SAEE & g Hoh 996 7o
(A) @i 4E =g @ R

(B) Z®ed diegd o 1l 8

(€)  AHi 1 ARH-TEH F T T A1 2|

(D)  FYFHE TN &g A1 2 |

fou mu femet ® | wE I w1 FAE Fifaw:

(1) %9 (A) 3 (B) (2) = (B)F (C)

(3 FEE(C)F(D) (4) Haa (D) (A)
Options :

92090630353. 1
92090630354. 2
92090630355. 3
92090630356. 4

Question Number : 90 Question Id : 9209067678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following factors need to be considered when individualizing pre-
competition meal plan?

Athlete's food preference
Cost of food
Choice of competition organisers

Digestibility of foods

m e o @ »

Pre-competition meal timing

Choose the correct answer from the options given below :
1. A, Cand D only

2 A, D and E only

3. A,CandEonly
4

A, B and D only

Options :

92090630357. 1
92090630358. 2
92090630359. 3
92090630360. 4

Question Number : 90 Question Id : 9209067678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST SATYR W Adai & 6 S8R A 9910 899 76 fAafeiad § § 5 sl ® T\ 3 &6

AETERA BT

(&) Taenfeat i wrg wEfmm

(B) @94 i AFE

(C)  wfETiTa & AEE] i TEe

(D)  Egg-Tard H I

(E)  wfeEi § @ @ & 994

feu e fo=reai ® | 9 I w1 F9E Fifau:

(1) = (A), (O)F (D) (2) a (A), (D)9 (E)

(3)  E(A), (O)F (E) (4) F9¢ (A), (B)T (D)
Options :

92090630357. 1
92090630358. 2
92090630359. 3
92090630360. 4

Question Number : 91 Question Id : 9209067679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following movement/movements are possible on knee joint?

Extension

Abduction

A

B

C. Flexion
D. Adduction
E

Circumduction
Choose the correct answer from the options given below -
1. Aand Conly
2. BandD only
3. AandE only
4. CandE only

Options :

92090630361. 1
92090630362. 2
92090630363. 3
92090630364. 4

Question Number : 91 Question Id : 9209067679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hed 1 F= d 3 = = il e -

(A)  UFHSH
(B) TU=EH
(C) FwEE
(D) UEFH

(E) Hi=hHEsH

faqu mu famedi 4 @ wd I = FAmE Hifsw:

(1)  F=E (AT (O) (2 FE=(B)3 (D)

(3) e (A) 9 (E) (4) =ad (C)F (E)
Options :

92090630361. 1
92090630362. 2
92090630363. 3
92090630364. 4

Question Number : 92 Question Id : 9209067680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are factors affecting validity?
Specificity of group

Place of origin of test

Familiarity of participant with test

Relevance of test

m o o w »

Cost of the test
Choose the correct answer from the options given below :

1. A, DandE only

2. A,DandB only

3. A CandDonly

4. A, BandConly
Options :

92090630365. 1
92090630366. 2
92090630367. 3
92090630368. 4

Question Number : 92 Question Id : 9209067680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 4 3 =0 9 9@ (i) F wafaa = T TS E-
(A)  wE H Taerea/fafiea

(B)  wl&W =1 g7 #=H

(C)  wfewmfi 1 wiiew & gufdaa 2@

(D)  wiEm F SEE

(E)  iem =i &

feu mu faedi | | | I w1 gAE Fif

(1) === (A), (D)F (E) () FEA(A), (D)VF (B)

(3) A (A), (C)F (D) (4) %ad (A),(B)F (C)
Options :

92090630365. 1
92090630366. 2
92090630367. 3
92090630368. 4

Question Number : 93 Question Id : 9209067681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following countries participated in the first Asian Games?
Afghanistan, Burma, Sri Lanka

India, Indonesia, Iran

China, Pakistan, Burma

Japan, Nepal, Philippines

m o o wp

Singapore, Thailand
Choose the correct answer from the options given below :

1. B, C and E only
2 A, B, CandD only
3. A, B,DandE only
4. A, CandDonly

Options :

92090630369. 1

92090630370. 2

92090630371. 3
92090630372. 4

Question Number : 93 Question Id : 9209067681 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 |5 %1 3 g 3 v ufEee s o e fom o
(A)  FETHEE, =65, A

(B) WRA, §EHMEN, §H

(C) =M, miw=, =5i

(D) =M, 919, e

(E) &R, gmeis

feu mu fasedi | | | I & gAE Fif:

(1) &=« (B), (O) 3 (E) (2) HEE (A), (B). (C)F (D)

(3)  waEd (A). (B), (D) T (E) (4) HaEa (A), (Cya (D)
Options :

92090630369. 1
92090630370. 2
92090630371. 3
92090630372. 4

Question Number : 94 Question Id : 9209067682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—l with List=Il :

List-I List=II
(A) | lron (1) | Body water balance and nerve function
(B) | Calcium (i) | Digestion and metabolism
(C) | Sodium (Ill) | Constituent of haemoglobin
(D) | Zinc (IV) | Blood clotting and nerve transmission

Choose the correct answer from the options given below :

T (A (BI(IV): (CH(I); (D)1
2. (A)y(I); (BY(1): (CHIV): (D)-(I1)
3. (A=) (BH(IV); (C)(1): (D))
4. (A=) (B)=(l): (Cy=(IV): (D)-(1)

Options :

92090630373. 1
92090630374. 2
92090630375. 3
92090630376. 4

Question Number : 94 Question Id : 9209067682 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 131 = 11 % 91 fiem it |

a1 HqT 11
(A) FHEE (I) i 9 dqe 9 afae M
(B) whicoram (II) °r=A 9 F99=4
(C) wifzaw (IT) FEPela & 92
D) fa= (IV) T =1 g&H1 9 Al g=m

Jr= feu mu fawedi ® & = I 1 gAE Sl

(1) (A)-(IID), (B)-(IV), (C)-(II), (D)-(T)
(2) (A)-(ILI), (B)-(T), (C)-(IV), (D)-(11)
{3) (A)-(I11), (B)-(IV), (C)-(T), (D)-(1I)
(4) (A)-(ILD), (B)-(IT), (C)-(IV), (D)-(I)

Options :

92090630373. 1
92090630374. 2
92090630375. 3
92090630376. 4

Question Number : 95 Question Id : 9209067683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—Il (Training 6th Edition Human Kinetics) :

List-I List—II
(A) | Macro cycle (1) | Intensity and duration
(B) | Load progression (I) | Strength and body weight ratio
(C) | Absolute strength (lll) | Periodization
(D) | Relative strength (IV) | Force regardless of body weight

Choose the correct answer from the options given below :
1. (A1) B)-(III); (C)-(1); (D)IV)
2. (A-(1); (B)=(N); (C)-(IV); (D))
3. (A (B)=(1): (CHIV): (D)-(I)
4. (A=), (B)=(1): (C)(I1); (D)=(V)

Options :

92090630377. 1
92090630378. 2
92090630379. 3
92090630380. 4

Question Number : 95 Question Id : 9209067683 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

41 151 541 11 % |79 fiem St |
il = 11
(A) TR = () e 3 FEEy
(B) ¥R wifd (I) wifed & iR & 97 %1 FIE
(C) i wfea (IIT) e
(D) ®me AifE (IV) =i wr & fam =

Fra fou o fawedi 6 @ @ IW %1 gAE Fif

(1) (A)D, (B)-(IID), (C)-(A1), (D)-(IV)
(2) (A)-(I), (B)-(III), (C)-(IV), (D)-(1T)
(3) (A)-(I1T), (B)-(I), (C)-(IV), (D)-(11)
(4)  (A)(I1D), (B)-(I), (C)-(IT), (D)-(IV)

Options :



92090630377. 1
92090630378. 2
92090630379. 3
92090630380. 4

Question Number : 96 Question Id : 9209067684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List—| with List-Il :

List—| List—lI
(A) | Assessment () | Classifying assessment
(B) | Grading (I1) | Norm based reference criterion
(C) | Evaluation (1) | Marks obtained from test
(D) | Measurement (IV) | Compiling evaluated readings

Choose the correct answer from the options given below :

1. (A1) (B)y=(111); (Cy(11); (D}(IV)

2. (A-(IV): (B)-(I); (C)-=(I); (D)1l
3. (A(I; (B)-(IV); (C)-(1); (D)=(il)
4. (AN, B)(II); (CI-IV); (D))
Options :

92090630381. 1
92090630382. 2
92090630383. 3
92090630384. 4

Question Number : 96 Question Id : 9209067684 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|1 11 =1 115 |14 faem &t )

= 1 T 11
(A) AR (I)y A=A 1 T
(B) IfEm (I) H= FiE Hefif amEe
(C) WTeai (II1) witerr & foram wm woers
D) == (IV) Hehfcd qrarehd &1 4R F

F= feu e faweai § @ 7AW F A HfA -

(1) (A)-(I), (B)-(I1I), (C)-(II), (D)-(IV)
(2)  (A)-(IV), (B)-(I), (C)-(ID), (D)-(III)
(3) (A)-(IT), (B)-(IV), (C)-(I). (D)-(11I)
(4) (A1), (B)-(11), (C)-(IV), (D)-(T)

b

Options :

92090630381. 1
92090630382. 2
92090630383. 3
92090630384. 4

Question Number : 97 Question Id : 9209067685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=Il with List=Il :

List- List—II
(A) | Planning (Iy | Putting plans into action
(B) | Organizing (1) | Ensuring progress
(C) | Leading (1) | Motivating employees
(D) | Evaluating (IV) | Defining organisational goals

Choose the correct answer from the options given below :

T (A (BY=(1): (C)=(H); (D}(IV)

2. (AIVY; (B)(1); (C)-(lll); (D)=(Il)
3. (Al (B)(1); (C-(IV); (D))
4. (A(V); (B)-(1); (C)-(): (D)=(ll)
Options :

92090630385. 1
92090630386. 2
92090630387. 3
92090630388. 4

Question Number : 97 Question Id : 9209067685 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qA1 151 g2 11 % |19 fiem S )
T 1 T 11
(A) I () Fr=" =i Fn=a =
(B) FWEISA (I1) wifa gHfP=a F
(C) wrigsH /7= (I11) =TI = UHE
(D) TeaT=A (IV) =12 % ALl | TOATHa F

H= fou u faspedi o & |6 I F FAE Hifaw

(1) (A)I), (B)-(I), (C)-(IT), (D)-(IV)
(2) (A)-(TV), (B)-(D), (C)-(I11), (D)-(1T)
(3 (A)-aD), (B)-(D, (C)-(IV), (D)-(11D)
(4) (A)-(IV). (B)-(I), (C)-(ID), (D)~(11I)



Options :

92090630385. 1
92090630386. 2
92090630387. 3
92090630388. 4

Question Number : 98 Question Id : 9209067686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—l with List=Il :

List-| List-II
(A) | Tokyo Olympic Games (1) | 2028
(B) | Paris Olympic Games () | 2032
(C) | Los Angles Olympic Games (i) | 2020
(D) | Brisbane Olympic Games (V) | 2024

Choose the correct option from those given below :
1. (AR (B(IV) (CHI); (D)D)
2. (A (B (G (DY)
3. (A(IN); (B(IV): (CH(1): (D))
4. (A)(I); (B)=(1); (CH(IV): (D)=(I1)

Options :

92090630389. 1
92090630390. 2
92090630391. 3
92090630392. 4

Question Number : 98 Question Id : 9209067686 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=l 191 q=1 115 |19 fgem Fifm |

= 1 il
(A) T S T (I 2028
(B) Uim A= wa (I 2032
(C) e vl Sas ga (IIT) 2020
(D) fomem siafs @a (IV) 2024

44 fau mu femeai § | |1E I 1 g9 #ifa

(1) (A)-(11D), (B)-(IV), (C)-(11), (D)-(I)
(2) (A, (B)-(1D). (C)-(T), (D)-(IV)
(3) (A)-(I1D), (B)-(IV), (C)-(I), (D)-(1D)
(4)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(IT)

Options :

92090630389. 1
92090630390. 2
92090630391. 3
92090630392. 4

Question Number : 99 Question Id : 9209067687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List—II :

List— ListII
(A) | Judo () |Lona
(B) | Basket ball (1 | Matte
(C) | Kabaddi (1) | Ace
(D) | Tennis (IV) | Three Pointer

Choose the correct answer from the options given below :

1. (AR (BY-=(1): (CH(IV): (D)

2. (AI); (BY-(IV); (C){1); (D)=(IIN)
3. (A(I); (B)(I): (C)(1): (D)~(IV)
4. (AR(IV); (B)=(1); (C)=(1); (D)1
Options :

92090630393. 1
92090630394. 2
92090630395. 3
92090630396. 4

Question Number : 99 Question Id : 9209067687 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
41 151 g4 11 % |19 fam Hifa |

= 1 il
(A) @ @ &
(B) aE=hRZ-=TA (1) o
(C) wad (III) @
(D) <= (IV) i uigex

= feu o faereat § @ w3 w1 A Hiau

(1) (A)-(IT), (B)-(D). (C)-(IV), (D)~(I1T)
(2) (A)-(I1), (B)-(IV), (C)-(T), (D)-(I1I)
(3) (A)-(III), (B)-(ID), (C)-(D), (D)-(IV)
(4) (A)-(IV), (B)-(I1I), (C)~(I), (D)~(1I)



Options :

92090630393. 1
92090630394. 2
92090630395. 3
92090630396. 4

Question Number : 100 Question Id : 9209067688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List—I with List—Il (Dr. Rumesh Chand Kunwar Pubs Amit Brothers) :

List-l List=l|
(A) | Sports Authority of India (1) | 1957
(B) | YMCA, Madras (1) | 1961
(C) | NSNIS (II) | 1984
(D) | LNIPE (IV) | 1920

Choose the correct answer from the options given below :
1. (A (B)(IV): (C)=(1); (D)
2. (A(I); (B)HI); (CH(IV); (D)
3. (A(V): (B)(I): (CH(); (D)
4. (A=) (B(IV): (C=(I1); (D)=(1)

Options :

92090630397. 1
92090630398. 2
92090630399. 3
92090630400. 4

Question Number : 100 Question Id : 9209067688 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HA 151 g4 11 % |14 faem $ifae |

= 1 =11
(A)  wRdT Ea wiaE (I 1957
(B) dE.wAHL.T wmE (I 1961
(C) TA.UH.UA,.H7E.14, (IIT) 1984
(D) TA.TA.30E.11. (IV) 1920

Hr= feu mu ol § @ H5E I 1 g9 #if

(1) (A)-(ID), (B)-(I), (C)-(I1I), (D)-(IV)
(2)  (A)-(ID), (B)-(II), (C)-AV), (D)-(T)
(3)  (A)-(IV), (B)-(II). (C)-(IID), (D)-(T)
(1) (A, (B)-(IV), (C)-(1D), (D)-(I)

Options :

92090630397. 1
92090630398. 2
92090630399. 3
92090630400. 4



